9. cviceni - vysledky

Piiklad 1.

(a) z ,z € R.

(b) 228 -2 z e R\ {0}.
(c) 2Vad+L1e? x> 0.

(d) —2cos3z— e +4x ,x € R.
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x5 + m%, x € (—00,0) U (0, +00).

Priklad 2.

—2(x+1)e* zeR.

sinz —zxcosz, x € R.

d) 3(sinz + cosz)e?, x € R

(e) 3(1+a?)arctanz — 3z, z € R
Priklad 3

a) =3z —2)7, z €R

1
2(z2+1)°

(e) —% arcsin Q—@x, —2\/g <z< 2\/%

Priklad 4.

z € R.

(4x —1)3

a

(a)
(b)

)
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1 1
6 ,33>1.
1
2

log 2z + 1|, z € (—o00, —3) U
(c
(d

—2/1-Tz,z <1
) log(sinz), v € Upey (km, 7 + k).
)

—gcos5x z € R.

(e

(f) log(3 + ¢*), z € R.

g) —log(2+cosz), z € R.
)

(h) Zsinz + X sin3z + g5 sinbz, z € R.

(%,—i—oo).

(0)

Lod + 2% + o+ 2sin 2 + Tlog x|, z € R\ {0}

71: 5_or +8x3—16x2+16x———i—arccotana: x €
R.

(M)
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+ +x%,x>0.
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~i=

arcsinz, x € (—1,1).

1.3 1.3
gr”logw — gx°, x > 0.

3
T2

2
ST 932 x> 0.

log? z — §:z:2 log:c+

zlog?x, x > 0.

sxsin(log 2z) — 1z cos(log 2z), = > 0.

372
—se ",z eR

1
2arctan? z’

x € (—00,0) U (0,400).

2V —1-2log(vVz —1+1), z > 1.
4cols4ac o colex - 10g|COSx’7

v € Upez (=3 +bm, 3 + ).

2\[aurctan \[, z € R.

2z
'327“ arctan e® — %e z € R.

9cos x+7cos7a:—%cos5az z € R.

—3log(2 — cosx) — 2cosz — 5 cos’z, x € R.

~3/(52)%, @ € (=00, -1) U (0, +00).

10 5 10
log (e + Wz~ E s avm ¢ 0
Bz —4)(x+1)3, € (—o0, —1) U (~1, +00).
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Priklad 5.

(a) % Cos .

(e) 2arctan /.

(f) 3€2* —e” +z —log(e” + 1).
(g) xarcsinz + V1 — 22
(h) —z + tanwx.

(i) z3sinx — 32% cosx — 6z sinx + 6 cos .

() \/% arctan \/%x
(k) 2v/sinzx.
(1) = 3 arccosz + V1 — 2% —

3
2

g(1—2%)z.

(m)

2 1 Vite?r—1
V14 e+ 210g7\/@+1'

—3(1—21)5.

% arcsin \/gx

iarcsin‘l x.

21+ logz)2 — 2y/TF log .

9(2% — 3)5 — 1822 — 3+ 36log(V/2% — 3 +2).

x arcsin? x + 2marcsinm — 2x.
Hz+2)Y/ Bz +1)%

2log(vVr +1— vz —1) — 2arctanﬁ
2y/x — 6x +12x — 6log(1l + Jx).

log(1 + sinx).

4
5

L (2% +1)

5
5 (4x° —5).
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